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Instructions :
iy  All questions aré compulsory.

i) This question paper has two parts ‘A’and
iiij Part ‘A’ contains 20 multiple choice type
that has to be answered on OMR Answer Sheet.

iv) After giving answer on OMR Answer Sheet, do not cu

use eraser, whitener etc.
v) Part ‘B’ contains detailed answer type
vi) Total § questions are there in this part.
vii) In the beginning of each question it has

(B ’.

questions of 1 mark each

t it and do not

questions of 50 marks.

been mentioned how many

parts of it are to be attempted.
viii) Marks allotted to each question are mentioned & 1t.
uestion. Do not

ix) Start from the first question and go up to the l@
waste your time on the question you cannot @r :

book and cross ( x ) the page. Do

te the solution on that

x) If you need place for rough work, do i&& page of your answer

page.

xi) Do not rub off the lines const a question of construction.
Do write the steps of constru n brief, if asked.

xii) Draw neat and correct fi solution of a question wherever it
is necessary, otherwise i absence the solution will be treated

incomplete and wro

0 - A
& Part- A
&))" ( wgfaweds W )
ultiple Choice Type Questions )
1. frafafaa § H oty den g

<
A ﬁ?S‘ ® 3
© Yo (D) 0-101101110...

1. In the following numbers, the rational number is

(A) Vo B) V3

) Vo1 (D) 0-101101110...
2. Ve TFT LT x+y=10,x-y=4 F & &

(A) x=5,y=2 B) x=7,y=3

(C) x=7,y=-3 D) x=-7,y=-3
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' ' = ~y=4is
olution of the pair of linear equations x + y =10, x— Y i

The s
B x= 7' =3
{A] xX= 5, y= 2 ( ]' y 2 1
=-3 (D] =_7’y__.

C) x=T7,y=-=
g (5.9)H y TR E
(A) 14 TTH (B) 9 HER

= 1
(C) 5HEH (D) J106 A6
The distance of point ( 5, 9 ) from y-axis is
(A) 14 units ~ (B) 9 units &
(C) 5 units (D) V106 units 1
afe vk wfysrg wEi B #t o yon 5y2 9 €, I o &

L 4

A) 10 Feft ® 1042 ¥ @
(C) 15 §H (D) 1542 g 1
If one side of an isosceles right triangle i cm, then the length of its
hypotenuse is
(A) 10cm B) (10v2 cm
(C) 15cm 15V3 cm .
sin?18°— cos? 72° & U & t

o

(A) 1 & B) 0
© & 09 D -1 !

4

The value of s?.iié—cos2 72° is

@) 1 ’\ B) 0
1
€ 5 '2 D) - 1

A) p : B) p+
f] 2p (D) 2p+ 1 1
Oor any positive even inf e .
formm 'NICEET p, every positive odd integer will be of the
(21 p B) p+q
©) 2p (D) 2p+ 1
1

["Turn over
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A) 9 (B) 10 |
(C) 105 (D) 11 -
7 If mean of the numbers 7, 8, x, 11, 14is x, t then the value of x
(A) 9 (B) 10
(D) 11 1

(C) 10:5
g e faam GO ax’ +bx+c=0 SUA G E, A cHAAE

2
2 a
a B) =
w ; &
2
p? p) L 1
© a (D) 4a
8. If the roots of the quadratic equation ax? &0 are equal, then the
value of cis
(A) a (B) \@
4b o

(©) \{. bg

b’ b- 1

9. mwﬁaﬁu&@m 9, DB=(3x+19) ¥F, AE=»x A
EC=(3x+4) ¥t | |BC, @t x FTHH &

O #21 t
Q’\\Q : ‘

(A) 4 QT
(C) 2@t
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9.

10.

10.

11.

11.

12.

[ ]

12,

5 822(Dw)

in the given figure, if AD=(x+3)cm, DB=(3x+19)cm,AE=x cm,

3x+4) cm and DE| | BC, then the value of x is

EC=(
A ¢
X cm
¢
(3x+4)cm
¢t &
(A) 4cm [B} lcm
(C) 2cm 3 cm 1
1@10%#%@@&1%% &
(A) 2 B) 4
€ 5 (D) 1
mbers from 1 to 10 will be

The arithmetic mean of the even positi

(a) 2 &4
(C) 5
ﬂ@numaﬂaMEquﬁﬁgam
2 ,3x13

(A) 2x3x 13
{D] 2x32x13 1

€ 22 x3x1 0
Prime factors o number 156 will be

(B) 2?2 x3x13

(A) 2x ’Ap
(C) 22e'x11 D) 2x3%2x13 1

afs U aritga i 1 AT AN TR FA: 24 AR 12 & @ THHT WA T

[a—

(A) 18 (B} 20

If mean and mode of a grouped data are 24 and 12 respectively, then its
median is

(A) 18 (B) 20

(C) 22 (D) 25 . 1

02000/32 -
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13, e Ygs WA IH 2x+3y=5, dx+ky=10 F iy &9 § I &

13.

14.

14.

15.

15.

16.

A kT AAL
(A + B) 1

2 1
(C) 3 (D) 6

if the pair of linear equations 2x+3y=5, 4x+ky=10 has infinitely many

solutions, then the value of k is
1 B |
Al S (B)
(A) 2 &
(C) 3 (D) 6 1

O
Aﬂcamsnﬁﬁmﬁﬂﬂwm%%pgmég’mﬁfg%iﬁ?ﬁ
ABC ¥R BDE % &%l 1 3F01d & 6

1

(A} 2:1 (B)
C 4:1 {D) ; 1
ABC and BDE are two equilateral tri such that D is the mid-point of

BC. Ratio of the areas of the trian BCand BDE is
A) 2:1 1:2
C) 4:1 &(D) 1:4 1

afg cosA=2;?5~,T'ﬁ w@ot‘qaﬂm g
s 2 B 2

TP, X
6 24

625 625

C) = D) —=
576, Q D Tos :

If co%, then the value of tan A + cot A is
24

A 24 25

(A) o5 (B) 24
625

c 625 625

(C) 576 (D)

168 1

o 2 gt 7 o 4 3 0 8, A 7 b g &
TR GTHE aTet g i ey &

(A) 5 qe
(C) 7 8%t

B) 6 it
(D) 25 @AW

1
02000/ 32


Hindustanknowledge.com


16.

17.

17.

18.

18.

19,

19.

20,

20,

7 szzmw,

of two circles are 4 cm and 3 cm respectively, then the radiug

If the radii | *
the areas of these circles is

of the circle having area equal to the sum of
(A) 5cm (B) 6cm
(C) 7cm (D) 25 cm 1
frenme WHIEOT x2 - 3x—-10=0 & qA &
A) 5,2 (B) 5,-2
(D) -5,-2 | 1

{C] - 5: 2
The roots of the quadratic equation x2_3x-10=0 are

(A) 5,2 B) 5,-2 &
1

(C) -5, 2 (D) -5,-2
ﬁwmwwﬁmﬁwﬁmwﬁ J3 T E,
&1 375 BT ¢ Q

(A) 60° ' 6

(C) 30° (D] 1
If the length of shadow of a tower on&lane ground is J3 times of its
height, the angle of elevation of is

(A) 60° 45°

(C) 30° Q D) 90° 1
45%WW4WW@uﬁ$mWﬁﬁwmmﬁ
6 9t =19 & 39 'gﬁw%

(A) 3 (C) 4 (D) 6 1
The number,0 spheres, each of diameter 6 cm that can be made by
melting etal cylinder of height 45 cm and diameter 4 cm is

(A) 3 (B) 5

(C) 4 (D) 6 1
afs AABC U wHaE M W YFR & f% AD) BC, @t AD? SUER ¥

(A} 3 DC? B 2Dc? () 3 pc2 (D) 4 DC? 1

2
If AABC is an equilateral triangle such that AD.L BC, then AD?is

equal to

2
{(A) 3 DC? (B) 2 DC° (g % pc? (D) 4 DC? 1

02000/32
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gqug - o
Part - B
( e sodfim v )
( Detailed Answer Type Questions )
1. At @ug HifaT '
(a) foema wolteor 4x? -6x+5=0 1 fafera S0 FRT ot Res T8 Rl

# W 7 FAC 2

(b) 3-0 ¥ e 1 O I Gifad | IWH FH W 70 WA [ T fog @

@wmwwﬁmﬁm|m$qzﬁm§ { 2
A+B)<90°

(c) 3l cos(A—B}=§ R sin(A+B}=§, oy R

A> B, T A 3R B & W Fq HiT | q@‘ 2

(d) iR SRERAT 929 H 7T F 7 2

1 siaae | 40-45 | 45-50 | 50-55 260 | 60-65 | 65-70 | 70-75
AR 2 3 8 6 6 | 3 2

() I 3l T TF WA H 3ol 9O ¥ | IW WEAT HT A A, T ¥ 3iep}

&I ToIeH Q T HE &1 9 g 9 i 2

() Freifer st I i 5

it st 10 16620 | 20-30 [ 30-40 [ 40-50 [ 50-60 | 60-70 | 70-80
FHTEr 14 13 12 20 11 15 8

1. Doall %‘
(a) Fin e discriminant of the quadratic equation 4x2 -6x+5=0and

hence find the nature of its ropts. 2

(b) Draw a circle of radius 3-0 ¢m. From a point 7-0 cm away from its

centre, construct the pair of tangents to the circle. Write the s

) ) . teps of
the construction in brief

2

_J3 -
(c) If cos(A-Bl—"'é— and SIH(A+B|=%“1, 0°<( A+ B)<9Qe° and A > B,

then find the values of A and g
' 2

02000/32
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(d) Find the median of the following frequency distribution : 5
2045 ] 45-50 | 50-55 | 55-60 | 60-65 | 65-70 70-75 |
2 3 8 6 6 3 2
two-digit number is 9. Nine times of this

reversing the order of the

Class-interval

Frequency
(e) The sum of the digits of a

number is twice the number obtained by
digits. Find the number. 2
() Find the mode of the following data : 2
Class-interval | 0-10 | 10-20 | 20-30 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Frequency 7 14 13 12 20 11 | 15 8

5. Tl o @ue & & T
(@) (i) T fF UF wAoRE foww Ui 4+ 13T 4g + T BT §,

Tt q T Uil & | & 2

(ii) ;%Qamzssaﬂwoﬂoqﬁazﬁwuw@#wmmw

| 2

(b) TH WY IWEA TF HAR & 9% aF F et W s
IEH T F & 30° F AGTHA £ S foF J99R % U W
IR TF WAM A QS ¥ 6 % FR B FTTHT P 60° &
T W fEg ® TR % O” g " SR g} forar e wwy §e

Eﬁ?rrm $ 4
() ﬁ—‘g’aﬁm-z,zyaﬁt , 8 ) Wl g 91 Y@WEE AB Fl

s 3 e anﬁﬁammaam. 2 Ww:
(d) :}mﬁﬁmjw 9 39 &1 3R 39 ok T BT H 2 wver ST

:rg e : :
CER:S cD %?:Hoq;gg:;m;:w b | ’
- vl ST = &1 OD B g6
ﬁ‘?ﬂ:’@. OA ”ﬁiﬂﬁaﬁmfﬂﬁgﬁ%MﬁH\ﬂ'ﬂﬂm
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@ e SRERE 27 H AT A P jn
T 3aud 20-60 | 60-100 | 100-150 | 150-250 | 250-350 | 350-450
FRERAT 7 5 16 12 2 3

2. Do any five parts :

(a) (i)

(b)

Show that any positive odd integer is of the form 4g + 1 or

4q + 3, where g is some integer. 2
(i) Find the H.C.F. of 867 and 255 using Euclid's division
algorithm. 2

A straight highway leads to the foot of a tower. A @tanding at the
top of the tower observes a car at the angle o [ depression of 30°

th a uniform speed.
ar is found to be 60°.

Find the time taken by the car to re@n foot of the tower from this
4

which is approaching to the foot of the to
After 6 seconds the angle of depression

point. https:-"-*'u-'\\'w.upboau'dnnlinc$
(c) Find the coordinates of the which divide the line segment
AB joining points A (-2, 2 B (2, 8) into four equal parts. 4
(d)

(e)

02000/32

The numerator of a ft& is 3 less than its denominator. If 2 is
added to both the n@ ator and the denominator, then the sum of

new fraction a%&me original fraction is 2-9-.
O g 20
4

» AB and CD are two perpendicular diameters of a circle

Find the original
fraction.
In tht;f

m% re O. OD is diameter of the smaller circle. If OA = 7 cm, find
the ratio of the areas of smaller and larger circles.

B
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() Find the mean of the following frequency distribution : 4

Class-interval 20-60 60-100 | 100-150 | 150-250 250-350 | 350-450
Frequency 7 5 16 12 2 3

IRV G IR IR LR CIRE T R T e et S W —"

FT Al S FEE €, A fog S e S g g o §1 6
AYAr

BL R CM T ool Bt ABC #t Wifersrrd & aom 3 fingst 1 24 wwaor

¢\ fog wifsg % a(BI2+CM?)=5BC?. & 6

3. If one angle of a triangle is equal to one angle of the o langle and the

sides including these angles are proportional, sprove that the two

triangles are similar, E g 6

@
BL and CM are medians of a triangl@ right angled at A. Prove that
4(BL* +CcM?)=5BC?, o

6

OR

02000/32 " irn over
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boat, whose speed is 18 km/hour in still water, takes 1 hour
A motor y

to go 24 km upstream than to return downstream to the same Spot.
more to .
Find the speed of the stream.

5. Ui W O § AN FW VG O T UF F U fows & AHR H 8,

Sraat S 24 A ¥ AW Fraw ok I fodt =) freud wmn 8 9 AR

20 Tt ¥1 40 To T WX B W A T T FI G W G aret g9 B LA

A FACN (x = 314 FQ) & 6
o O

3 W =W I U Fat 14ﬁraﬁﬂw§w@mm%|3§tﬁm§§ﬁ§rﬁ

T F IR AN 4 W A T JAHR A 1 4§ oAl Th
YR W WY T S & | 39 Sy P S |

A container, opened from the top and

6

p of a metal sheet, is in the

form of a frustum of a cone of hei cm with radii of its lower and

upper ends are 8 cm and 20 ¢ ctively. Find the cost of milk which

can completely fill up the con*r, at the rate of Rs. 40 per litre.
(Use n=3-14)

6
R
A well of diamete

isdug 14 m deep. The earth taken out of it hgg
around the well in the shape of g circular ring of
width 4 W\Qrm an embankment. Find the height of the embankment, g

been spread e all

_
822(DW) - 3,62,000
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